Non-linear Graphs Practice #1
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Sketch: Y=%317t 2 for0 <X
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Rewrite the function y = 31T 2
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so that every point on it is shifted up by 4.
Write the equation for the solid line. 5T
Write the equation for the dotted line. .
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Write the equation for a function that passes: -8 ! -4 VN B
through (1, 2), (2, 4), (3, 8) and (4, 16) i
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A light bulb is found to give an output
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according to the formula:

W = 45 x 0.95%°% + 50

where W is the power in Watts, and t is the time, in months

Sketch the function, and use that to find when the power drops to 70 Watts.




Answers: Non-linear Practice #1

1.

Sketch: y=1"*2+ 1 - solid line

asymptotey =1

Sketch: y=—|Xx- 2| - dashed line
X intercept (2, 0) —

Sketch: y= % + 2 for 0 < X - dotted line

asymptote y = 2

Rewrite the function y = % + 2

so that every point on it is shifted up by 4.
3
Y=sxs1+®
Write the equation for the solid line.
y=(X+ 1)(X+ 2)(X+5)

Write the equation for the dotted line.
y=vx—-1

Write the equation for a function that passes:
through (1, 2), (2, 4), (3, 8) and (4, 16) ]
y=2" T

A light bulb is found to give an output

according to the formula:

W = 45 x 0.95%°' + 50

where W is the power in Watts, and t is the time, in months

Sketch the function, and use that to find when the power drops to 70 Watts.

Graph shows 31-32 months

(actually 31.62 months)
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